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GENERAL INSTRUCTIONS TO THE EXAMINEES
1. eeft |y U e U W AiS ifardd: ford |
Candidate must write first his/ her Roll on the question paper compulsory.
294 e rfart 2
All the questions are compulsory.
3. AP YT Pl IR &1 T8 IR GRaD1 H & fored |
Write the answer to each question in the given answer book only.

4. RO oAl § R wue & I 99 & SR U AT o ford |

For question having more than one part, the answers to those parts are to be written together in
continuity.

5. U3 A & 2= 9 3RS ®uR # fHl geR @l Ffe /R / R 89w fR=d W
D U HI Bl a7 |

If there is any error/difference/contradiction in Hindi & English versions of the question paper, the
question of Hindi versions should be treated valid.

gus g e 3 Tl g IR DI e AT
31 1—10 1 10 s
q 11—15 2 30 s
Nl 16—25 3 45 s
< 26—30 6 200 e
Section | Que. no. Marks per Que. Word Limit of ans.
A 1—10 1 10 Word
B 11—15 2 30 Word
C 16—25 3 45 Word
D 26—30 6 200 Word

7. U9 G126 9 30 H 3R fdbey 2 |

Question no. 26 to 30 have internal choice.



Tug (37)
Section- A
1. R i are 37 gfisar e @ oEd &b 8 °?

Who is the writer of the book ' History of caste in India ?

2. 999 H IRA I a9 go AMRIET IR g ?

Which is the biggest megacity of india.
3. B § a9 FHE MU AN DI Yol A H A% Bl & 7

Which pressure groups are successful in fulfilling their demands. ?
4. WIRGIRP TG 9 BT R SR & ?

What is the cause of increasing family tension ?

5. fReRfIhROT BT Y9Td Sila- & fdb &3l uR uel ?
Which field of life is influenced by westernisation ?

6. TRIBROT I qT faeraay forRa |

Write two characteristics of urbanisation .

7. SHRUENHROT BT T DI |

clarify secularism.

8. ‘RGfI® IR | FIT M & ?

What is meant by ' Cultural change .

9. ST STFHAT & IR § I8y |

Explain gender discrimination.

10. SfI—Yairg & ST IR &1 y¥Td oy |
Write two effects of caste-prejudice on Society.
s (9)
Section- B
11, e RIS SRIHH @ 8 7
What is ' Smart cities Programme ?

12. ATHIRNTS eI &1 31l foTRay |

Write the meaning of Social Movement?

13. STl U=’ 9§ FI7 g g ?



What is meant by 'Water-management ? 2
14, I UFId a1 DT ey |

Write the role of gram panchayat. 2

15, TTHOT I T &3 | 3ol d BRI JHSSY |

Explain the causes of migration from rural to urban areas. 2

s (¥)

Section- C

16. U a7 &1 NIRRT 59 A7 SIfd & SR TR 9 BIh 3T BRUT A Bidl 8 |

T B |

Backward caste is assessed not on the basis of brith or caste but on other basis clearify. 3

17. (rzradsl &1 Gfdem yad glaemsil &1 Jed # quie HIfoH |

Write a Short note on Constitutionally ascribed facilities to disables. 3

18. IR — SMIFTHIHIOT T & 7

What is post- modernity ? 3
19. BB BT ATAraAD [aeeiyor foffed | 3
Write a critical analysis of sanskritisation. 3

20. XTSI Sl Bl fIRIvdr aassy |
Explain the Characteristics of political parties. 3

21. A 0T & A8 a1 o7 I favgail a1 foriad |

Write down the points which should be kept in mind while constructing residence. 3

22. 19 FHg WRDR Bl DY JAIMIT B 2?2 Id1gd |

Explain how pressure? groups influence goverment. 3
23. qIA3 & EMTET & IR | farRad |
Write the ill-effects of Child labour. 3

24. RO & 9T W YR, B, IR J I8N P ARNaT <% <9 |

Show the literancy rate of India, Kerala, Rajasthan and Bihar through a table. 3

25. STHER, e} g HIERdl &% DY S YT | AHSSY |

Explain how to calculate birth rate, death rate and literacy rate. 3



gug ()
Section- D

26. "fA=TAT H Tl B IRAR TG BT AR B | T DI |
Unity in Diversity is the essence of Indian Society clearify.
grerar OR

YR FHIST & ARDBIdD U8 Bl IR DIfoT |

Explain the cultural aspect of Indian society .
27. YRA H SMIRNHRT W e foaRad |

Write an essay on Industrialisation in India.

gt OR

URFRT U9 ST & Heg FI] AR § ° qa1sd

Explain the relation between Tradition and Modernisation.

28. SHAIRE®] ¥ AR Rigidal I F938y |
Explain the Principles related to demography.

grrar OR
T vd TR & # ARl @ W i |
Clearify the differences between Rural and Urban areas.

29. faiiferar anigre= &1 yvma foTRay |

Write the impact of Bijolia peasant Movement.

sierar OR
RIS & YATERYT Al & aR H fIRay |
Mention the Environmental Movement of Rajasthan.

30. GATIAT TSl IRl TR Uh oid forfRRay |

Write on artical on Panchayati Raj System.

it OR

IHT RIS Gl B Rl vd qAmEm fore |

Write the Challenges and their solution faced by present political parties.
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1 DTH 34

2 Uex gy 57

3 NI 84

4 TRIBRYT, SRITHRYT YRFHIBRYT, eAURadad sl (blg UH) 59

5 ARl &, ST &, gTfie &, e (Plg UD) 64

6 39 fa9TST, oM fARTSCIHRET, ¥RT g, W_T Sildd, W3, gREugd &l 56
dHe (Pl 2)

7 o fRRUeTdT T 37T / URYTHT 66

8 AR b YR BT 37ef / TRATT 61

9 i FH=ar / Hevra a1

10 ST qairg &1 9916 WR 991d — a9, YR, Ji=ilddrs, 3ffQ 34

11 e Rt A et 95

12 ATHTIST JTTaTer 31ef / afRvmaT 123

13 STel U= 37ef 91

14 I TR B HDT /BRI 75

15 U 3 I & H Mo /AU B BRI 96

16 = Ul @ (PRI &1 IR —  |THINTD, 3T, AR aw 1+1+1 38,39

17 RIS 2 HAHT T UTae (Pls 6 UTae) 46,47,48

18 IR JATETHIBRUT Bl YRHTHT / 372 68

19 ARIADBROT DI ATATIAHD [ATeTToT 66

20 OIS Tl B faRwdr (b1 6 faerydn) 80

21 AT /Ha T & 99T &9 <F ARY 91d (61—6) 99

22 SdTd AHE BT TRBN 01l /HARBR TR J9Td 85

23 Il 51 & gUHIg—aRe, fRIer, IR, IR IS (Bl 3 f[9) 116

24, ARA & A1, [ORAM, dRel, 9 (48R, & WERAl &% HI gor-l AR 14
aRT

25. SHER, g d HIERAT &% S1d PR G 1+14+1 21
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26. TATR=TeT H QepdT—eiHes, Apicie dTiford, RToT-iad fAaf=iar 3 gddr| | 14+1Y% 15,16,17
aferar
IRA TS & ARGiad Uge — g9 fdare, Axer), wERi, 64, | 1747
geioT, goured, U¥hR A1
27. JAEIRTHROT WR e — W= | Yd 9 U9 | 55,56
3ferar
URERT g AT fTehell H AR | 53,54
28. SRS & g — VIR glg BT G, AHACT BT G, 3+3 20,21
3feraT
grfoT g TR &3 H AT — aeR, fddre, uRar, A|er), Sfd, | 1+1+1+1+
I R, 3l dver, g4 2Nerfore WRer g 3= 141 26,27,28,29
29. fasiiferar fba ffaie™ U+ / aiRomH 124,125
3ferar
RIS H YITaRYT AT (WoTsell) TRl BT Ald, YgE °eT HH, | 24242 127,128
ECIC]
30. AR o FaRAT R olE— AMaAdhd], A, o, 73 a1 AfdE™, | 2+2+2 72,73
e |
3ferar 83,83
RIS Gl &1 AT 9 AT | 3+3




